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1. There are four classes of grades 6’s at CSS.  Class A has 11 boys and 14 girls, 
class B has 14 boys and 10 girls, class C has 17 boys and 6 girls, and class D has 10 boys and 10 girls.

What is the average number of students in each class?

What is average number of girls to boys?

What is the ratio of boys to girls in grade 6?


2. You are paid $20.50 to babysit. You work for 2 hours. How much are you paid per hour?


3. The sum of two numbers is 15, and their product is 56. What are the two numbers?
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